
 

A. Choose the Correct Answer: 
1. What is the value of 345 + 789? 

a) 1124    b) 1134 
c) 1144     d) 1154 

2. Which of the following results is even? 
a) 135 + 244    b) 199 – 97 
c) 128 × 3    d) 215 + 87 

3. If you subtract the smallest 3–digit number from the largest 2–digit number, 
the result is: 
a) 1     b) 100 
c) –1     d) 101 

4. What is the remainder when 1234 is divided by 10? 
a) 4     b) 0 
c) 1     d) 5 

5. Which of the following expressions gives the greatest value? 
a) 120 × 5    b) 600 ÷ 2 
c) 300 + 100    d) 720 – 80 

B. Write the Missing Terms to Complete the Sentences: 

1. The sum of 456 and 678 is ___________. 

2. When 928 is subtracted from 1000, the difference is ___________. 

3. The product of the smallest 2–digit number and 5 is ___________. 

4. If we divide 625 by 25, we get ___________. 

5. The result of 320 minus 99 is ___________. 

C. Figure out the answers to these questions: 

1. A toy costs ₹135. How much will 8 such toys cost? 

2. A number when multiplied by 6 gives 738. What is the number? 

3. Find the number which when added to 487 gives 1000. 

4. What is the smallest 4–digit number divisible by 3? 

5. Write the result of the following operations: 1000 – 245 + 180 – 75 

Operations on Numbers 



6. Reema scored 276 in Maths, 198 in Science, and 154 in English. What is her 
total score? 

7. A shopkeeper had ₹5000. He sold goods worth ₹1765. How much money is left 
with him? 

8. Using digits 3, 4, 5 only once, form the greatest 3–digit number and subtract 
the smallest 3–digit number using the same digits. What is the result? 

D. Mark each sentence with a True (✔✔) or False (✘✘): 

1. The sum of 540 and 260 is 800. 

2. 75 multiplied by 4 equals 300. 

3. Subtracting 100 from 850 gives 750. 

4. 648 divided by 8 is equal to 81.  

5. The result of 900 – 450 + 100 is 550. 

  


